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02 2feltl 405,566 0 405,566
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03 Al 2 THHI 3,097 0 3,097
OAIE =TI 3,097,000 » 14! 3,097
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DRHED AL 02 500,000& *23| 1,000
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ot=3l2 XI& A 10,000 10,000 0
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ZoHe =X 52 33,559,837 29,290,538 4,269,299
= 17,681,007
< 2,647,317
Al 13,231,513
oo S5 9,264 9,264 0
= 4,632
< 926
Al 3,706
HASEC &t L ZAH XI& 9,264 9,264 0
= 4,632
< 926
Al 3,706
301 LEtE A= 9,264 9,264 0
= 4,632
= 926
Al 3,706
01 MBIBZE 5= 9,264 9,264 0
OMASZOS AEtH Y HAH X &
9,264,000 » 14 9,264
= 4,632
< 926
Al 3,706
HOHQl MEOHH XA 246,749 239,990 6,759
= 175,278
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Al 57,177
Zoper A28 XA 19,740 19,740 0
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Al 15,792
301 gEtE 4= 19,740 19,740 0
< 3,948
Al 15,792
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Al 15,792
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OZZZMHgMady =208 29 X
10,000, 000& * 14! 10,000
< 2,000
Al 8,000
Zojel o & 571,586 476,456 95,130
= 72,274
Al 499,312
ol HoAld XNJHH 29 80,000 40,000 40,000
< 12,000
Al 68,000
307 gl2tol & 80,000 40,000 40,000
< 12,000
Al 68,000
11T AS S RAEE = 80,000 40,000 40,000
OZoel HAANE XNALEH 29
80,000,000 = 1H 2 80,000
< 12,000
Al 68,000
ZOHQIEHOIAIL M= A ALY 52,612 0 52,612
< 10,522
Al 42,090
307 21201 A 52,612 0 52,612
< 10,522
Al 42,090
11 ALS S RAEE = 52,612 0 52,612
OFMHAEHAAL H=ZAL 52,612,000 x 14 52,612
< 10,522
Al 42,090
ojel de #Ho MB 15,210 15,450 N 240
201 Let24E] 9,450 9,450 0
01 At 2t 2l 9,450 9,450 0
O1 et==2Hl 3,080
D> &OHQI XS R E XM E(2,80001)
1, 100& *2,8000H 3,080
O3 2d=¢ 6,370
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70,0003 x721%133] 6,370
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01 = LH 4 Hi 5,760 6,000 A 240
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OZME S 2EAEY 30,000,000 =14l 30,000




SH: AR D
HE: Fojel BN S

el Mojel Mol FX (el @2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
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== 4,203
Al 16,812
307 2Iz2t0| A 21,015 21,312 AN 297
o= 4,203
Al 16,812
11 A EXAIEEX 21,015 21,312 AN 297
OZfel 2234 AIY 21,015,000 x 1Al 21,015
& 4,203
Al 16,812
ool AME RES2 37,392 37,392 0
& 7,478
Al 29,914
201 2Et24Hy| 37,392 37,392 0
& 7,478
Al 29,914
01 AP 22| d| 37,392 37,392 0
O1 Let=2H| 37,392
DEOML MERSXE 37,392,000 x 1Al 37,392
& 7,478
Al 29,914
O E AR £l X& AY 30,000 30,000 0
308 XX G SO0l A 30,000 30,000 0
10 212 SUHUSHEAXEAE AN Y| 30,000 30,000 0
OHMAUBHET 22| XS AIEHl HEZ2
30,000,000 x 14! 30,000
ZOHC DIRESAIAY 29 59,911 57,886 2,025
== 11,982
Al 47,929
307 2Iz2t0| & 59,911 57,886 2,025
= 11,982
Al 47,929
10 M SXANEEHESIGHEX 59,911 57,886 2,025
OO IA=SAA 29 59,911,000 14! 59,911
= 11,982
Al 47,929
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Al 24,357
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307 21201 A 80,000 80,000 0
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Z0Hots HMHASAA =29 70,000 70,000 0
307 glz2tol & 70,000 70,000 0
11T M SXASE EX 70,000 70,000 0
OZOots MEsddd 24
70,000,000 =14 2 70,000
T=HSHA Hus ALY 40,000 40,000 0
< 20,000
Al 20,000
307 gl2tol & 40,000 40,000 0
< 20,000
Al 20,000
11 ALS S XAEE = 40,000 40,000 0
THSISA HWE AFE 40,000,000 14 40,000
< 20,000
Al 20,000
ZOH=XIAIE 14,433,187 13,165,735 1,267,452
= 5,636,571
< 927,970
Al 7,868,646
Zoper=Xa 24 1,216,588 1,174,456 42,132
307 glz2+ol & 1,216,588 1,174,456 42,132
10 AL SXAIEEE 2 H EX 1,216,588 1,174,456 42,132
OFe=Na 29 1,216,588,000& 10 & 1,216,588
ZOHAANFAIE 28 K& 7,535,257 7,892,172 A 356,915
= 5,274,679
< 452,116
Al 1,808,462
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= 5,274,679
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Al 1,808,462
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Al 103,680
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10 AL SXNAIEEE2EHEX 268,416 291,160 N22,744
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>PEEod 44,272,000 & 14| 44,272
> Ot s 46,507,000 =14 46,507
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>olsdd 47,401,000 =14 47,401
D2 41,706,000 14! 41,706
DAL S 35,325,000 » 14! 35,325
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< 1,426
Al 5,702
307 glz2tol & 7,128 7,128 0
< 1,426
Al 5,702
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,128,000& =14l 7,128
< 1,426
Al 5,702
FOHASIESAIE 23 490,851 522,639 A 31,788
307 glztol & 490,851 522,639 N 31,788
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OBMU=2AESAE 28 K& 686,122
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153,516,000 14 153,516
DAMNHEEFUAES S 151,844,000& 14 151,844
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ZOHARATHEAE 29 1,697,777 1,643,733 54,044
307 21201 A 1,697,777 1,643,733 54,044
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> 2 HAEl 259,369,000 » 14! 259,369
DEZOISHMHAESHAE
230,960,000 =14 230,960
HOQUMATHSAIL (H=2BL) X 1,500,000 0 1,500,000
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307 glz2tol & 249,394 243,028 6,366
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307 gl2tol & 218,974 213,632 5,342




2N

X ZH
S =

el

A= Eo0)o
DO =X =X
ZohoI= XAl S

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

10 A SAAEHI2SHIEX

O=stSsdH 29 218,974 ,000& » 10 &

218,974
218,974

213,632

ASISXAE SAX SN2 (ZHA=SXAIE)

H

Al

433,080

86,616
346,464

397,080

(o]
2
e
e
HT
0
oy

= M

433,080

86,616
346,464

397,080

36,000

MIIEtEY =

OMBIZEXAIE SAXRF SR (ZHAZXA
&) 433,080,000& » 14!

= N

433,080

433,080

86,616
346,464

397,080

36,000

ZOHQAIE JIsEZAY

= MW

478,650
206,825
239,325

32,500

105,358

373,292

FOHANFAIE DIsEY

o

413,650

206,825
206,825

85,358

328,292

401 AIEHIZ 2

oy

413,650

206,825
206,825

413,650

01 A& HI

OFMANFAL(BREUR) OI™AF
413,650,000& » 14!

SRl

413,650

413,650
206,825
206,825

413,650

= M

35,000

17,500
17,500

35,000

2l

Al

35,000

17,500
17,500

35,000

] )
HEs JsEL(HEXNE S)

35.,000,000% *14!

H

Al

35,000

35,000

17,500
17,500

35,000

= M

30,000

15,000
15,000

30,000

= M

30,000

15,000
15,000

30,000

30,000

30,000




2N

X ZH
S =

el

ZZZ 0§t
e =X s
ZOHAAIE JISEZAY

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

F(RE2 X2

O
pa
i)l
g
g
0
2
e
i
e}
et
fon
A=
w 0
T
oy

0,0

o

0,000& %14

= M

30,000

15,000
15,000

= N H

972,184
617,529

52,931
301,724

936,

464

35,720

ZOHQ FEXNJAMEH XA

90,000

90,

000

307 gl2tol &

90,000

90,

000

AR S XA E X

OZOAIZXNFHAH T2 2HH|

58,387,000 14 &

31,613,000 « 14 &

58,387

58,387
31,613

31,613

52,

37,

970

030

5,417

N5, 417

LSLYTHEMEIA HIRH XS

= N W

879,120
615,384

52,747
210,989

844,

161

34,959

Z W

879,120
615,384

52,747
210,989

844,

161

34,959

879,120,000& * 14!

= N H

879,120

879,120
615,384

52,747
210,989

844,

161

34,959

AHLSRE HRH™H K&

= Hn A

3,064
2,145
184
735

,303

761

= N W

3,064
2,145
184
735

,303

761

J2S0c

pnl
=}
OANLEXNE HIRH K&

(s
ro

A HAE AL I

3,064,000 =14

= M W

3,064
3,064

2,145
184
735

,303

761

= M W

7,576,321
4,990,175

487,229
2,098,917

6,155,

860

1,420,461




PN Z2Z2E0HA
g o =X 58
el FoHesid (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

0N oI

=} =

e

SKE=0 XA 7,120,721 5,648,000 1,472,721
4,984,505

427,243
1,708,973

= N H

308 MtXIHMS0IH 7,120,721 5,648,000 1,472,721
4,984,505

427,243
1,708,973

= N H

GicHetZ & A AE AL HI 7,120,721 5,648,000 1,472,721

,120,721,000! * 14! 7.120,721
4,984,505

427,243
1,708,973

= W

iy
on
HE
Y
J
>
i
=

8,100 7,860 240
5,670

486
1,944

= W

308 MHXItHMS0IH 8,100 7,860 240
5,670

486
1,944

= W

3 SOtHe B & &2 E A S| 8,100 7,860 240

OSEx INt=N 8,100,000 * 14 8,100

5,670
486

1,944

= W

ST EsE2X FIHAE 297,500 350,000 A 52,500

59,500
238,000

= N

307 21201 A 297,500 350,000 A 52,500

59,500
Al 238,000

H

A SXAIE E = 297,500 350,000 A 52,500
OSHESTWY SEX FIOHNE
297,500,000& » 14! 297,500

59,500
Al 238,000

H

ZO0He EsEX FIOXA 150,000 150,000 0

307 21201 A 150,000 150,000 0

A S XA E X 150,000 150,000 0

OZMe EsEX FIHXA

150,000,000 =14 150,000

HOHQHS ALY 7,852,050 7,150,000 702,050

5,496,435
706,685

oy




fN: ZZF04

HE: Fojol =X S

CHR: I A S ALY (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2

Al 1,648,930

20 =2 20 X3 6,358,340 5,800,000 558,340
= 4,450,838
= 572,251
Al 1,335,251

301 LBt A= 6,358,340 5,800,000 558,340
= 4,450,838
== 572,251
Al 1,335,251

01 Al E & A 462 6,358,340 5,800,000 558,340
OHMeA=a XS 6,358,340,000& 14! 6,358,340
= 4,450,838
o 572,251
Al 1,335,251

NS (Olx=) NS 779,424 750,000 29,424
= 545,597
= 70,148
Al 163,679

301 et A= 779,424 750,000 29,424
= 545,597
& 70,148
Al 163,679

01 M EXE 452 779,424 750,000 29,424
OXMLEHII=) NS 779,424,000 « 1Al 779,424
= 545,597
&< 70,148
Al 163,679

S (XIHAR S) X3 714,286 600,000 114,286
= 500,000
== 64,286
Al 150,000

301 LBt A= 714,286 600,000 114,286
= 500,000
= 64,286
Al 150,000

01 Al E & A 452 714,286 600,000 114,286
O (Xtate) X2 714,286,000 « 1Al 714,286
= 500,000
= 64,286
Al 150,000

ZHOH QI & KFel AFS 870,790 617,551 253,239
= 482,228
& 77,712
Al 310,850

ool Xtel K| (Lers dxel) 446,920 269,000 177,920
= 223,460
& 44,692




2N
X ZH -
L= B

el

22 T 040l Dt
Zojel =X ZA

TN L Ttel ALY

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

178,768

S
e
Y
=

= N W

446,920
223,460

44,692
178,768

269,000

177,920

04 DIt 22 XS+

OFofel Loty 2Xtel 446,920,000& * 14!

zZ W

446,920
446,920

223,460
44,692
178,768

269,000

177,920

ZOHA L X2l XA (SXLXtel)

=z N H

168,960
84,480
16,896
67,584

113,400

55,560

307 glztol &

=z N H

168,960
84,480
16,896
67,584

113,400

55,560

1A SXAIE 2 =

OZoie =XgXel X 168,960,000 * 14!

= N W

168,960
168,960

84,480
16,896
67,584

113,400

55,560

ZOoHL X2l X (AR L Xel)

= N H

55,894
27,947

5,589
22,358

61,400

A5,506

= N H

55,894
27,947

5,589
22,358

61,400

A5,506

04 JIZtNZ22 XS+

OFOHA LIl X2 (Al ML Rtel)
55,894,000& » 14|

= MW

55,894

55,894
27,947

5,589
22,358

61,400

A5,506

= W

156,110
124,888
6,244
24,978

136,875

19,235

307 21201 &

zZ W

166,110
124,888
6,244
24,978

136,875

19,235

A S XA E X

156,110

136,875

19,235




2N

3

Z 0§l

Mo Zojol =X =A
Gl Al Y Xel At (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OHA[E A 2HZH0H QI OFOFAF OHA

156,110,000 = 14! 156,110
= 124,888
o=t 6,244
Al 24,978

LLHHAUALALDS A BEXALS 42,906 36,876 6,030
= 21,453
== 4,291
Al 17,162

307 2iz2to| A 42,906 36,876 6,030
= 21,453
= 4,291
Al 17,162

11T AISIEXAIEE X 42,906 36,876 6,030

OLLHNAULAB S A EXALY

42,906,000 =14l 42,906
= 21,453
& 4,291
Al 17,162

AR KR A 102,851 95,490 7,361
= 9,996
== 570
Al 92,285

225 A4 EXNH 10,000 0 10,000
= 8,000
= 400
Al 1,600

301 et A= 10,000 0 10,000
= 8,000
& 400
Al 1,600

01 AISIE & A %52 10,000 0 10,000
O=22sHHE2X 10,000,000 « 1Al 10,000
= 8,000
& 400
Al 1,600

SEHHR E2ASIA 2,851 3,840 A 989
= 1,996
& 170
Al 685

308 XHXIGH SO0l & 2,851 3,840 A 989
= 1,996
& 170
Al 685

10 2| 2SHUSHE A XERAEASH] 2,851 3,840 A 989
Ogg el SR A 2,851,000 =14l 2,851
= 1,996
o= 170




2N
CEe =X
LEHOH XA

X ZH
S =

el

%

Z 0§l

=
6&

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 685
LLETNAXNSMEMH 2E XS 90,000 90,000 0
307 gl2tol & 90,000 90,000 0
10 AL SXNAIEEE2EHEX 70,200 69,000 1,200
OLYHMAXIEH 2
70,200,000 =10 2 70,200
11T M SXAISE EX 19,800 21,000 A1,200
OLL AR HHEH At
19,800,000& *1JH £ 19,800
ZOHel Atal &0 =0 276,860 189,870 86,990
= 47,000
Al 229,860
o 245 el & wEsds &It N 7,500 7,500 0
301 et a3z 7,500 7,500 0
09 &AL HIZB &S 7,500 7,500 0
OFHe 243 3l ¥ WsHs FIHA WU E
o 100,000& 752! 7,500
ool 2+ AN X2 AHY 42,000 42,000 0
307 21201 A 42,000 42,000 0
04 QIZFHALAIH B = 42,000 42,000 0
OH SHBAUS 2,000,000& =13l 2,000
OFoferel & &AL 10,000,000& *13l 10,000
OOty M=Uzal 30,000,000& =12l 30,000
ZESoteital A X 7,200 0 7,200
307 21201 A 7,200 0 7,200
04 QIZFHALAIH B = 7,200 0 7,200
OZ&=soteltial 7,200,000 » 14! 7,200
ZOHel S X2 A 63,900 63,900 0
307 gl2tol & 63,900 63,900 0
04 DIZHHALALSE E X 63,900 63,900 0
OF ASIENH & 63,900,000 » 14! 63,900
Z0HOts 2U=wa X3 ALY 21,000 21,000 0
307 glz2+ol & 21,000 21,000 0
11T M Z2XAIS EX 21,000 21,000 0
OX0iots gz wa X At
21,000,000& =14l 21,000
Zoperorst X 44,000 14,000 30,000
= 22,000
Al 22,000
307 glz2tol & 44,000 14,000 30,000




fN: ZZF04

HE: Fojol =X S

CHRl: ZOHQ AFSIE O &Y (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 22,000
Al 22,000
11T A EXAIEEX 44,000 14,000 30,000
O&EOfeIorsr X & 44 000,000 =14l 44,000
o= 22,000
Al 22,000
FFHOO AHASH K& 50,000 0 50,000
= 25,000
Al 25,000
307 QI2t0| & 50,000 0 50,000
& 25,000
Al 25,000
04 CIZ2tSHALALS B X 50,000 0 50,000
OZofel oI HASHH XS 50,000,000 x 14! 50,000
= 25,000
Al 25,000
gtst = A EE 30,000 30,000 0
308 NXIEHMSOIA 30,000 30,000 0
08 W=sJl&otistE = 30,000 30,000 0
Ogtst = HAEStW (5 USs2)
30,000,000& = 14! 30,000
OIS KIAIE SAA HEG 10,000 10,000 0
307 212t0| & 10,000 10,000 0]
11 A EXAIEEX 10,000 10,000 0
OZOHIE2X AL SALX HES(10001)
10,000, 000& » 1Al 10,000
O EXNAE S 2H4E 1,260 1,470 A210
201 et 9| 1,260 1,470 A210
01 AR 22l ] 1,260 1,470 A210
O3 g% 1,260
DENSXRE Bl oY
70,000 621 33| 1,260
THEES(ZE2E0HQI D) 6,756,000 1,808,000 4,948,000
PSS ONE=] 1,756,000 1,808,000 A 52,000
Xl gk xH &F &t 1,756,000 1,808,000 A 52,000
311 X 20| AHA & 456,000 508,000 A 52,000
01 Al -2« FRAEHNLISXL 20| XHAHE 456,000 508,000 A 52,000
OF2Z22HE ZLAY 456,000,000 « 1Al 456,000
601 Xl S S atst 1,300,000 1,300,000 0
01 Al -2« PASEMNLIZSXNL2AS A E 1,300,000 1,300,000 0
OF222H8 ZHAE  1,300,000,000& 1A 1,300,000




[

P

LH = 24 ch

L=}
el

o o o o — < <t <t N~ N~ N~ N~ N~ < ™ o o o
o o o o o < <+ <t o [ep] o) Te) [ep] (<o) N~ [eN] Al
el |= AR B U B S Cle | |(*® < Qe
no 8181|818 S|l | = Il B o © |
w (2222
w w o) w
E|
E=]
R i B e s|21212 |2 < N RN IS e S 3 |3 S
N~ (V) Nl (V) (V) o) Ye) » o [e] [ M~ [aV]
o l|lo|lo|lo|o o | o | o |~ ol — | = <
o < < < | < e} e} ™ [y — — | —
H3r -
uilEd!
k=S
o o o o o o o o ™ < <t <t N~ N~ N~ N~ N~ D D ()] [aN] o o (V) [aV] N~ N~ N~ < [qN] — o o o o o
o o o o o o o o [e6) Y] o) Te) — — [ap) [ap) [ap) [Q\] [QV] < — o o — — [ap) [ap) [ep) (o] Ye) Al [e6] [e] Q o o
Lle|e|e < Qe el |e @ 92 @ QN[N B[ @ @ @ @ 0 0 0 N N | N N
o o o o O o o O o o] o] o0} <t < < < < — — [aN] N~ — — O O < < T O < o o N~ ™ <+
o o o o o o Y] o) <t © © © o) Ye) — — — [ [ <t (V] [eV) [a\] — — — N (V] —
Clel=2]=e <= 0N N
3l o |lw|w|lov v N - —
<
=
T T A A T l oW ol xr <
xr 5 5 ;S I
or ®»H ¥ 3 3 " o] YR ® 3
— o o o x x o <t o o [eN] o o
0 |5 S S 2 ol 5l S 3 g 8 4 S 2
1] — S 8 8 ® ¥ S & oA B 8
N o S & S * o S — oE X < ~ S
S I = oS o9 o ~r = % S W P N oo
3 | = | o W8 & & 3 50 3 o o 28w J—
= |a|® ZoMa — = 2 0 o 8 -8 P
I+ Kk = Ir S o © ~ =
el o ol i Al o3
< |~ Kk o = )
S Rl I o_ KO _ = 5 ®
= |2|R R 3 Hal~|~|7a U A . D 0 R Ik = &
& | a3 = o © ~ |z |E o0 I = () nJ _
__|O¥. KF il = (23 E.Ao = =~ oJ <+ = 30 Eo — E] = < S ok o o ok =) DT
- | A X Hl|a|a|=s = =R po ° oo Y3l
o = |a = |= |k oF i <F o 3| = 00 30 10k no o oF oF oo <F
& 2 | = n (o W 3 3 a8 | & 20 | o W o = .Wo T |d <+ W T .- S B D o = o
. B | KU | KU < 3D 30 RO R ol or M o® moo Y B30 | ) X A0 A B0 M0 B/ U ou O = 30 KO =
- — |5 [ RIRE RO M0 R | [ S| D AR R Ml | [ oV mS W HF o oo [ KF
R fwn | ™ol & & A A |ZIY s |®mF = 838 2 0 YlEltk - &4 b A H O~ A 5|35 =~ ® -
RO Rlw|l~|~ O T |3 |8 |a|H O o O Zls | |x O O 0 O S| O O 3D
(28 s lEiwisis o8 IR |5 8 1 g
g N[ R o [OK | & | — ORI TR sV X Y
o+ | & b | ar | s T
= %0 | 3 ~

10




<

n0

Kio

Hl w

3,200
3,200

H3r
Wikd
RIS

4,200

700

Off &t 24

4,200
4,200

3,900
3,900
3,900

128

2%

=

350,000

Sl

405 TtatH

700

2l x3CH

us

o

1,300,000

OPC(1 HI)




